Choose the
expression

Trigonometric Substitutions

- X2 a2

Make the substitution

dx and d6

This handout covers how to work with the following forms:

x2—a2

relation between x and 0

X = aSin 0

in a?—x?

a2 —X2

\/az—(aSinG)2 =

\/az—aZSinZG =

finish the simplification

dx=d(aSinf) =

(take the
derivative)

x = aTan® a2 4 x2 dx=d(aTan0) = |72 >
(take th %

. 2 2 aKe the X
In Va"+Xx \/ a®+(aTan® ) = derivative) 6

finish the simplification :
X = aSecH 2 _ a2 dx=d(aSecH) =
) 5 0o (take the 0 a
m Vx--—a \/ (aSech)*-a> = derivative) '

finish the simplification



Trigonometric Substitution Problems
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hint: remember, when you
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switch variables, what happens to the limits?
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J hint: when you switch variables, what happens to the limits?
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